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Practice Medication Calculation Quiz # 2

ANSWER KEY
1.
The patient in Room 213 is to receive Zarontin 250 mg PO once a day.  The 


medication is supplied as an elixir containing 125 mg per ml. How many ml 


contain the prescribed dose?

ml =      1ml |               |      250mg  =   250  =  2 ml

        125 mg |               |            ml       125  

250mg   =   125 mg         125x  =  250     x  = 250       x  =  2ml

   x                  1ml                                           125
2.
Valium 10 mg is ordered. The dose available of Valium is gr 1/6 per tablet.


Administer _________tablet(s).

tab=     1 tab   |       1 gr      |     10 mg   =   10    = 1 tab

            gr 1/6 |      60 mg    |           tab       10

1/6 gr = 10 mg

10 mg  = 10 mg               10x  = 10      x  =  10        x  = 1 tab

    x           1 tab                                             10
3.
Theobid is ordered BID for a patient weighing 20 kg.  The recommended dose of this medication is 16 mg/kg/day.  How many ml should be administered at each dose if the pharmacy supplies an 80 mg per ml solution?

 Weight = 20 kg           16 mg X  20kg = 320 mg / day  given BID therefore divide by 2
                                     320 ÷ 2 = 160 mg / dose

ml =    1 ml   |               |      160 mg  =   160   =  2 ml

          80 mg  |               |            ml          80
160 mg  =   80 mg           80 x  = 160         x  = 160         x  =  2ml

    x              1 ml                                                 80
4.
The MD prescribed Keflex 250 mg PO q6h for Mr. Wong.  This medication is supplied as a solution containing 0.25 G per 100 ml.  How many ml per dose should Mr. Wong receive?

ml =      100 ml   |     1 G        |    250 mg   =   25,000 = 100 ml 
             0.25 G    |  1000 mg   |           ml           250

0.25 G = 250 mg

250 mg   =   250 mg        250 x  =  25,000       x  =  25,000      x  = 100ml
   x                100 ml                                                    250
5.
Ordered:
Ancef  1G IV q 6H


Available:
Ancef 60 gr per 10 ml


Administer:
_____________ml

ml =     10 ml    |     1 gr    |    1,000 mg   |    1 G   =   10,000   =  2.777   =   2.8 ml

             60 gr    |    60mg   |        1 G        |       ml        3,600
1 G = 1000 mg          1 gr = 60 mg  → 60 gr = 60 X 60  =  3600 mg

1,000 mg   =   3,600 mg      3,600x  =   10,000      x  = 10,000      x  =  2.777     x  =  2.8ml

     x                  10 ml                                                      3,600
6.
Drug BBB 3 mg is prescribed.  Available is 2 mg per 0.5 ml solution.  


Administer ____________ml.

ml =    0.5 ml   |         |    3 mg   =   1.5   = 0.75 ml

            2 mg    |          |       ml          2

3 mg  =  2 mg          2x  = 1.5        x  = 1.5      x  =  0.75 ml

   x        0.5 ml                                        2    
7.
The order is to administer 125,000 U of Medication AAA.  The medication is supplied in dry form with 2,000,000 U per vial.  The directions read:  Add 9.2 ml of sterile saline to obtain a solution which contains 1,000,000 units per 10 ml.  The nurse should administer ______________ml.

ml =      10 ml      |            |    125,000u     =    1,250 ,000   =   1.25 ml     x = 1.3ml
        1,000,000 u  |            |           ml               1,000,000

125,000   =  1,000,000      1,000,000x  =  1,250,000     x  =  1,250,000     x  =  1.25ml  
      x                 10 ml                                                              1,000,000
                                                                                                                     x = 1.3 ml
8.
Valium 10 mg has been ordered PO QID.  Valium gr 1/12 per tablet is available.  Administer ____________tablet(s).

tab =  1 tab       |    1 gr    |     10 mg    =   10   =   2 tab

         gr 1/12    |   60 mg  |          tab           5

gr 1/12 = 5 mg

10 mg   =   5 mg        5x  =  10        x  =  10         x = 2 tab

   x              1 tab                                       5
9.
Ordered:
ASA gr X every 3-4 hours prn for headache


Available:
ASA 300 mg per tablet


Administer:
__________tablet(s) per dose

tab  =     1 tab    |     60 mg    |    gr X    =   600    =   2 tab

           300 mg   |      1 gr       |       tab        300
1 gr = 60 mg    →   gr X  =    60  X  10  = 600 mg

600 mg   =   300 mg        300x  =  600     x  =   600       x  =  2 tab

    x                 1 tab                                            300
10.
Katie weighs 12 kg.  Determine her appropriate dose of medication PPP if the recommended dose is 12 mg/kg/day.  She is to take medication PPP TID and the medication is supplied in a 10 mg per ml solution.  Administer ________ml per dose.

weight 12 kg          12 mg   X   12 kg  =  144 mg/ day       To be given TID   therefore→
                                      144  ÷  3  =  48 mg / dose

  ml =      1 ml    |          |     48 mg   =    48    =    4.8ml

             10 mg   |          |           ml          10

48 mg   =   10 mg        10x   =   48         x   =   48          x  =  4.8

  x               1 ml                                                10                       
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